Make up Test 

Econ 102- Spring 2004

Prof. Steve Kyle
PART I: Multiple Choice. 10 points (each question worth ½ point)

1. Which of the following would be included in U.S. GNP and not in U.S. GDP?

a) Profit earned in the U.S. by Honda Corporation, a Japanese owned company.

b) Wages paid to Mexican migrant workers harvesting peaches for a U.S. owned company

c)  Rent paid to Sean Thornton, the American owner of a piece of property in Ireland.

d)  Dividends paid to Japanese owners of stock in Honda Corporation, a Japanese-owned company that sells cars in the United States.

Ans. c

2. Fill in the blank

GDP = final sales + (  change in business inventories   )

3.   Economists calculate both nominal GDP and real GDP. Which of the following statements best describes the difference between the two? 

a) Nominal GDP includes both intermediate and final goods and services, while real GDP includes only final goods and services. 

b) Nominal GDP is measured using current dollars, while real GDP is measured using constant dollars. 

c) Nominal GDP measures domestic trade, while real GDP measures international trade. 

d) Nominal GDP includes the value of the budget deficit, while real GDP excludes the budget deficit. 

Ans. b
4. “Double counting” would occur if GDP statisticians;

a) used market prices without a correction for inflation

b) included sales taxes for the market prices of goods and services

c) added the costs of wood to the furniture maker along with the final price of the chairs

d) added government expenditures on roads, and consumer expenditures on gasoline

Ans. c
5. The housework done by many women today at home

a) counts for GDP 

b) doesn’t count for GDP, but counts for GNP

c) counts for Real GDP only

d) none of the above

Ans. d
6. Which of the following people are considered unemployed according to the Bureau of Labor Statistics? 

I. William lost his job four months ago and because of the poor economy has not bothered looking for another job. 

II. Frank quit his job six weeks ago and went back to school full time. 

III. Elizabeth lost her full-time job as a bank teller last month. Since then, Elizabeth has been working one day a week through a temp agency. 

a) William 

b) Frank 

c) Elizabeth 

d) William and Frank 

e) William and Elizabeth 

f) Frank and Elizabeth 

g) William, Frank, and Elizabeth 

h) None of the three 

Ans. h
7. Which of the following lowers an economy's natural rate of unemployment? 

a) An increase in the number of weeks a worker can collect unemployment insurance 

b) More efficient job search through use of the Internet 

c) An increase in the minimum wage 

d) The economy entering a recession 

Ans. b

[image: image1]
8. Moving from point A to B in the previous PPF graph is the result of:

a) extra labor force due to recent migration

b) new discoveries previously unknown oil fields

c) an improvement in technology

d) a decrease in the unemployment rate

Ans. d
9. If the inflation rate is greater than the interest rate, the real interest rate is
a) positive

b) negative

c) zero

d) either positive or zero

Ans. b
10. Fill in the blank

      (  Depreciation   ) is the difference between gross and net investment

11. Fill the blank

If the MPC is 1 the MPS is (     0      )

12. The federal government often uses expansionary fiscal policy to: 

a) Reduce inflation 

b) Decrease the rate of economic growth 

c) Lower the rate of unemployment 

d) Reduce the budget deficit 

Ans. c
13. The President hires you as his head economic consultant. He is concerned that output is too high and that this will create inflationary pressures. He thinks it is necessary to reduce output by $50 billion. You know that the MPC in the economy is 0.8. Which of the following would be the best advice to give to the President?

a) Reduce government spending by $50 billion

b) Increase taxes by $50 billion

c) Reduce government spending by $10 billion

d) Increase taxes by $10 billion

Ans. c
14. If the government spending multiplier is 10, then the tax multiplier is

a) 9

b) -9

c) 10

d) cannot be determined because the MPS is not given

Ans. b
15. As the size of the MPC increases, the value of the balanced-budget multiplier
a) increases

b) decreases

c) could either increase or decrease

d) remains constant

Ans. d
16. Which of the following limits the amount of additional money the banking system can create when it receives an increase in excess reserves? 

a) Banks fail to make the largest possible loan. 

b) Customers deposit the entire amount of all checks into the banking system. 

c) The required reserve ratio is less than one. 

d) People channel all their savings into financial institutions. 

Ans. a
17. When the Federal Reserve engages in an open-market sale, what is the Federal Reserve selling? 

a) Reserves 

b) Money 

c) Federal government securities 

d) Real estate 

Ans. c
18. The transactions demand for money increases when: 

a) The price level falls 

b) The price level rises 

c) Nominal income falls 

d) Interest rates rise 

Ans. b
19. Suppose the reserve requirement is 10% and that all banks hold minimum reserves. Assume that there is a new deposit of $10,000 in a bank.
How much (new) money will the first two banks in the system be able to create? 

       $ 17, 100, i.e. $ 9,000 + $ 8,100
20. A decrease in the interest rate will cause the
a) government expenditure to increase

b) aggregate expenditure curve to shift down

c) aggregate expenditure curve to shift up

d) investment demand curve to shift to the right

Ans. c

PART II: Short Answer Questions. 10 points (each question worth 2 points)
Answer each question fully and SHOW YOUR WORK!!! You will lose credit for correct answers which seemingly came out of nowhere.

1. “It is impossible to stimulate the economy through fiscal policy while keeping the budget balanced”. Comment.

 You can stimulate the economy through fiscal policy even when keeping a balanced budged. The effect will be smaller than if you allow deficit to grow. Recall the balanced budget multiplier equals 1.

2. List the three components of desired investment. Also, mention the difference between desired and actual investment

Investment expenditure is composed of expenditures in
i) Plant and equipment
ii) Residential Construction
iii) Planned changes in business inventories. 
The difference between desired and actual investment comes from unplanned changes in inventories.
3. What is the definition of "stagflation"?  Please list any historical examples of when this phenomenon may have happened to an economy?

Slowing growth in the economy accompanied by a general rise in prices.  The U.S. experienced stagflation in the 1970s partially due to rising fuel prices. 

4. If the equilibrium interest rate in the money market is 8% and currently the interest rate is at 4%, describe briefly the causal process by which the rates would adjust to its equilibrium level.

If the current interest rate is below its equilibrium level there is excess demand for money, i.e. there is more demand for money than what is available in the market. Hence the interest rates paid by bonds must rise in order to keep them attractive for the public; this will reduce the demand for money until demand equals supply.
5. Suppose the consumption function is given by C=500+0.8(Y-Tx) and the government budget is balanced. The Government announces a new fiscal policy that decreases taxes by $100 and decreases spending by $200.

(a) Does the new policy create a deficit or a surplus? By how much?

(b) Does the equilibrium income increase or decrease? By how much?

The new policy will create a surplus of $100.
The equilibrium income will decrease by $600.
PART III: Essay – 10 points (each question worth 5 points)

Essay # 1

NEW YORK - Greenspan noted that, in recent years, new technology has helped businesses produce more with fewer workers, while globalization has led to an increasing flow of U.S. jobs moving overseas. This process is good for the broader economy in the long run, he said, helping to raise standards of living, but is causing "inevitable stresses and anxieties" in the short run. "There is a palpable unease that businesses and jobs are being drained from the United States, with potentially adverse long-run implications for unemployment and the standard of living of the average American," Greenspan said in prepared remarks delivered to the Greater Omaha Chamber of Commerce. His solution to the problem, as he told Congress last week, is to do a better job of educating American workers. 

February 20, 2004 (CNN/Money)
1. Name the three types of unemployment.
Cyclical, Structural and Frictional Unemployment
2. What type of unemployment is being referred to in the article?
Structural unemployment
3. Why does the Chairman of the Fed propose as “solution to the problem” educating American workers? What can the Fed do to solve this problem?
Since this refers to structural unemployment it cannot be fought by standard expansionary policies, rather in order to reduce it involves changes in the structure of the economy; in this case raising the skills of American workers. In other words the Fed can do nothing to solve this problem.
Essay # 2
U.S. Inflation Picture OK Despite Rise 

February 21, 2004


By JEANNINE AVERSA, Associated Press Writer 

WASHINGTON - The biggest jump in energy costs since the start of the Iraq war stung motorists and people heating their homes in January. From an economic perspective, though, the nation's overall inflation picture still looked good. 

The Consumer Price Index, the government's most closely watched inflation gauge, rose by 0.5 percent, more than double December's 0.2 percent increase, the Labor Department reported Friday. Much of the January jump was blamed on sharply higher energy prices, reflecting a cold snap in parts of the country, strong global demand and tight supplies, economists said. 

Excluding energy and food prices, which tend to swing widely from month to month, the core rate of inflation increased by a mild 0.2 percent in January, up from a 0.1 percent increase in December but suggesting that prices for many goods and services remain fairly stable….
Federal Reserve Chairman Alan Greenspan and other economists have said inflation poses no current threat to the economy. That's a main reason why Fed policy-makers have had leeway to leave short-term interest rates at a 45-year low of 1 percent and why they can afford to be patient in ordering future rate increases…

1. Despite the Fed’s most recent decision, raising interest rates is a tool often used to address inflation.  Through what mechanism does the Fed raise interest rates?  How does this help the Fed to control inflation in the economy?
The Fed rises interest rates by means of a contractionary monetary policy. The three instruments that the Fed use for such purpose are:
i) Sell of government securities through open-market operations.

ii) Increase the required reserve ratio

iii) Increase the discount rate

By increasing the interest rates in the economy, the Fed induces a fall in private investment, which in turns reduces aggregate expenditure, hence reducing inflationary pressures.

2. Illustrate, using the three panel diagram, the effect of a Fed move to raise interest rates on money markets, investment and output.
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Of course second-round effects could be included here too.
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